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West Bengal Police (S.I.) Exam. – Practice Set
Answers with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c)
2. (a)
3. (a)
4. (c)
5. (b)

6. (d)
3 4

12 81 729 20
5 3

   


 4 5 3
2 3 9 9 2 5 0

2


     

7. (d)
8. (b) !“þ˜!Ýþ e«!›„þ ¢‚…Äy x – 1, x, x + 1 £öìœ– x – 1 +

x + x + 1 – 5 = 2x + 11
 x = 16
 !˜öì’Åëû ¢‚…Äy !“þ˜!Ýþ 15, 16, 17

9. (b)
10. (a) xî!ŸÜT ”%öì•îû þ™!îû›y’

n 3
x y 35 7

x 35
x 35

       
   

3
4

35 17.92
5
    
 

 !œÝþyîû

11. (d) 9409 97
 ²Ìí› ¢y!îûîû ŠéyeŠéye#îû ¢‚…Äy 97

12. (a) ~!Ýþ !›Ÿ!› þ™îÅ“þöì×!’îû xhsþ†Å“þ– ~îû vþzF‰þ“þyéôô 4579 !›ÝþyîûÐ
ö„þy!£›yîû ¢öìîÅyF‰þ Ÿ,Déôô ‹yöìþ™öì¦þy (2955 !›ÝþyîûVÐ †yöìîûy
þ™y£yöìvþüîû ¢öìîÅyF‰þ Ÿ,Déôô ˜„þöìîû„þ (1412 !›ÝþyîûVÐ

13. (c) N
2

~îû ßþ³%þÝþ˜yBþ éôô 193°CÐ
14. (c) Z = 26 £öìœ–

N = 14, E = 5, T = 20, U = 21
NET = 14 + 5 + 20 = 39
 NUT = 14 + 21 + 20 = 55

15. (a)
16. (a)
17. (b)
18. (d) !¦þÝþy!›˜ E xB%þ!îû“þ öŠéyœyöì“þç íyöì„þÐ ~îû x¦þyöìî îõþÄyc–

˜yöì¦Åþîû öîûy† ö”…y ëyëûÐ
19. (b) ~£z öîûy† ¢yœöì›yöì̃ ÍÔy Ýþy£zöìšþy¢y îÄy„þöìÝþ!îûëûyîû xye«›öì’

£ëûÐ
20. (a)

21. (c) xœ„þ 1 x‚Ÿ „þy‹ „þöìîû 16 × 4 = 64 !”öì̃ (x)Ð ²Ì”#þ™
1 x‚Ÿ „þy‹ „þöìîû 8 × 5 = 40 !”öì̃ (y) ”%‹öì̃ 1 x‚Ÿ
„þy‹ „þöìîû

=
xy 64 40 320 8

24
x y 64 40 13 13


  

 
 !”öì̃ Ð

22. (a) 2x y (x y) 4xy 4 60 8      

 (x2 + y2)(x3 + y3)
={(x + y)2 –2xy}{(x + y)3 –3xy(x + y)}
={64 – 30}{512 – 360}
= 34 × 152 = 5168

23. (b) 1529 !…Ê. ~£z ë%öìkþîû ¢)‰þ˜y £öìëû!ŠéœÐ
24. (a)
25. (c) þ™yöìMþéêéôôôé”yöì›y”îû– !“þœy£zëûy– ›y£zí˜éôôôéîîûy„þîû
26. (c) ¢îûßþº“þ# ¢Á¿y˜ îÄ“þ#“þ îy!„þ=!œ xyhsþ‹Åy!“þ„þ þ™%îûßþñyîûÐ
27. (a)
28. (a) ¢‚!î•yöì̃ 117 ˜‚ •yîûyëû îûy‹ßþº !îöìœîû „þíy vþzöìÍÔ… xyöìŠéÐ
29. (d) „þyœ„þy¢%̈ îû îõþÄy þ™%‚öì„þŸîû ~î‚ ˜y!îûöì„þœ– Ÿ“þ›)œ# vþz!qöì”îû

îõþÄy †¦Åþöì„þŸîû œ%®²Ìyëû xöìDîû vþz”y£îû’Ð
30. (c)

31. (b) ‡îû!Ýþîû vþzF‰þ“þy
‰þyîû ö”çëûyöìœîû öÇþešþœ

Šéyöì”îû þ™!îû¢#›y
=

54
3

18
   !›ÝþyîûÐ

32. (b)

33. (b)
31 3 6 2

8.31 0.6 0.002 8
90 9 900


       

28 6 2
8

90 9 900
   

280 600 2
8

900

 
 

882 979 97
8 8 8.979

900 900


     

34. (a) ÷”‡ÅÄ ²Ìßþi öÇþešþœ
100 100 100
115 85 ?
þþ™)öìîÅ öÇþešþœ !Šéœ 10000
~…˜ öÇþešþœ £œ (115 × 85) = 9775
 öÇþešþœ £Éy¢ öþ™öìëûöìŠé

(10000 9775) 100
% 2.25%

10000

     

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

35. (c) 39 × 23 ÷ 21 × 5  39 + 23 – 21 + 5 = 46
36. (b)
37. (d) îûy‹Ä¢¦þy ßþiyëû# „þÇþÐ
38. (b)

39. (b) !˜öì’Åëû x‚Ÿ
1

2

 
  
 

x‚Ÿmöìëûîû þ™yíÅ„þÄ
î,£_îû x‚Ÿ

1 5 2 3

2 5 10

    
x‚Ÿ

40. (c)
41. (c) öÝþ!œöìšþy˜ xy!îÜñyîû „þöìîû̃  @ùÌy£y› öîœÐ
42. (b)
43. (d)
44. (a) ~£z ë%öìkþîû ˜yëû„þ £öìœ˜ !î˜ëû– îy”œ ç ”#öì̃ ŸÐ îûy£zÝþy¢Å

!î!Óþ‚éôé~ ~£z ë%kþ ¢‚‡!Ýþ“þ £öìëû!ŠéœÐ
45. (b)
46. (c)

47. (b)  
2

2 1101 1212201
1101 1212201

100 10000
    
 

 211.01 121.2201 

121.2201 11.01 

48. (d)
3 2 2 6 2 3

6 3 3 1 6 2
 

  

     3 2 6 3 2 6 3 1 2 3 6 2

6 3 3 1 6 4

  
  

  
2 3 6 3 2 6 3 2 2 3 0      

49. (d) þ™îûî“Åþ#„þyöìœ ›%!ŸÅ”„%þ!œîû ˜y›y˜%¢yöìîû ›%!ŸÅ”yîy” ˜y›„þîû’
„þîûy £ëûÐ

50. (d)
51. (b) ö†yœöì„þîû îÄ¢y•Å r ~„þ„þ £öìœ

3 24
r 4 r r 3

3
     ~„þ„þ

52. (a)
53. (b)
54. (b) îy£y”%îû Ÿyöì£îû ²Ì„,þ“þ ˜y› ›%ëûyI›Ð “¤þyîû Ÿy¢˜„þyœ 1707-

1712 !…Ê.Ð

55. (b)
1

5
 !„þ!›/!›!˜Ýþ =

1

5
 × 60 !„þ!›/‡ ù̂Ýþy = 12 !„þ!›/‡ ù̂Ýþy

ö˜ï„þyîû öî† + ößþËyöì“þîû öî† = 12 !„þ!›/‡ ù̂Ýþy
ö˜ï„þyîû öî† – ößþËyöì“þîû öî† = 6 !„þ!›/‡ ù̂Ýþy
(–)       (+)    (–)
–––––––––––––––––––––––––––––––

2 × ößþËyöì“þîû öî† = 6 !„þ!›/‡ ù̂Ýþy
 ößþËyöì“þîû öî† = 3 !„þ!›/‡ ù̂Ýþy

56. (c) 3 × 8 = 24    4 × 7 = 28  8 × 6 = 48
 ~„þ„þ xBþ 8

57. (a) 470 – 38 = 432, 432 – 40 = 392
392 – 42 = 350, 350 – 44 = 306

58. (d) 216 ÷ 27 = 8
öëöì£“%þ ¢‚…Äy”%!Ýþîû †¢y= 27, ö¢öìÇþöìe öŠéyöìÝþy ¢‚…Äy!Ýþ 27
~îû „þ› £öìî ˜y– ~î‚ îvþü ¢‚…Äy!Ýþ 27 öíöì„þ 216 ~îû ›öì•Ä
²Ìy® 27 myîûy !î¦þy‹Ä ö„þyöì̃ y ¢‚…Äy £öìîÐ ~îû„þ› 2 ö‹yvþüy
¢‚…Äy þ™yçëûy ëyöìFŠééôô (27, 189), (81, 135)Ð

59. (c) Šéye x˜%_#’Å £öìëûöìŠé
40

640 256
100

    ‹˜

Šéye# x˜%_#’Å £öìëûöìŠé
20

360 72
100

    ‹˜

640 + 360 = 1000 þ™îû#ÇþyíÅ#îû ›öì•Ä x˜%_#’Å £öìëûöìŠé
(256 + 72) = 328 ‹˜
Ÿ“þ„þîûy x˜%_#’Å þ™îû#ÇþyíÅ#îû ¢‚…Äy

328 100
32.8%

1000


 

60. (b) 3 × ‡˜öì„þîû îyýîû ÷”‡ÅÄ = ö†yœöì„þîû îÄy¢

îy– ‡˜öì„þîû îyýîû ÷”‡ÅÄ
2 2 3

3


 = 4 ö¢!›

 ‡˜öì„þîû xyëû“þ˜ = 64 ‡˜öì¢!›Ð

61. (a)
ax by ax

b
100 100 y
  

 b ~îû z% =
ax

y
× z% = a ~îû

zx
%

y
62. (c) xî˜# ç xyöì̃ yëûyîû 10 !”öì̃  ~„þöìe ¢Á™)’Å „þöìîû „þy‹!Ýþîû

1 1 9
10

20 25 10
    
 

 x‚Ÿ

xî!ŸÜT „þy‹
9 1

1
10 10

   
 

 x‚Ÿ ¢%öì…˜ „þöìîû 3 !”öì̃ Ð

 1 x‚Ÿ ¢%öì…˜ „þöìîû 30 !”öì̃ Ð
63. (c) ~„þ„þ ç Ÿ“þöì„þîû xBþmöìëûîû =’šþœ £œ ”Ÿöì„þîû xBþ– 3 ×

3 = 9  8
64. (b)

65. (c)
1 1 1 1

1 1 1 ..... 1
3 4 5 n

             
     

2 3 4 n 1 2
. . .....

3 4 5 n n


 

66. (c) 33 + 1 = 28
 53 + 1 = 126

67. (c) AP : PB = AQ : QC = 1 : 2
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

~…˜– AC : AQ = 3 : 1 = 9 : 3
 AC = 9 ö¢!›

68. (c) sin + sin2 = 1 £ëû–
xíîy sin = 1 – sin2 = cos2
 cos2 + cos4 = sin + sin2  

69. (c) îy!„þ xþ™Ÿ˜=!œöì“þ !m“þ#ëû ¢‚…Äy!Ýþ ²Ìí› ¢‚…Äy!Ýþîû ¢yöìí
7 myîûy =’ „þ!îûëûy þ™yçëûy ëyëû ö„þîœ›ye (c) xþ™Ÿ˜!Ýþöì“þ
!m“þ#ëû ¢‚…Äy!Ýþîû ¢!£“þ 9 =’ „þ!îûöìœ ²Ìí› ¢‚…Äy!Ýþ þ™yçëûy
ëyëûÐ

70. (b) 22 42

20

32 1292 52

90 26

+ + +

(71-76) :

B C
D A

E

71. (a)
72. (d)
73. (b)
74. (d)
75. (b)
76. (d) B ~î‚ C !îîy!£“þ îÄ!_«– ëyîûy öëïí þ™!îûîyöìîû íyöì„þ˜Ð
77. (d) P > R > S

R > T > Q
S îy Q ~îû ›öì•Ä ö„þvþz ¢îöì‰þöìëû öî¤öìÝþ £öìî !„þlsþ “þíÄ
¢Á™)’Å ˜y íy„þyëû !˜’Åëû „þîûy ¢½þî ˜ëûÐ

78. (a) íyöì›Åy!›Ýþyöìîûîû ¢y£yöìëÄ “þyþ™›yey !˜’Åëû „þîûy £ëûÐ x˜Ä!”öì„þ
‡!vþüîû ›y•Äöì› ¢›ëû !˜’Åëû „þîûy £ëûÐ

79. (a) T E M P O R A R Y

R P M O A E T R Y
~„þ£z¦þyöìî–
P E R M A N E N T

N M R A E E P N T
80. (c) (a) 18 × 6 ÷ 3 – 2 + 5 = 39  37

(b) 18 × 6 ÷ 9 + 15 – 12 = 15  12
(c) 28 ÷ 4 × 7 + 1 – 5 = 45
(d) 28 ÷ 7 × 4 + 1 – 2 = 16  15

81. (b) 30 – 15 = 15
82. (b) (40 + 25 + 20 + 15) – (30 + 25 + 15) = 30

83. (a) cos =
4

5
, sec 

5

4
sin2  cos2  

sin2   – cos2

sin2   –
2

4

5
 
 
 

sin 
16

1
25


sin
25 16

25




sin
9

25


 sin 
3

5
3

sin 35tan
4cos 4
5


   



5 3 8
sec tan 2

4 4 4
      

(84-88) :

Y– + +
S†,£î•)V Svþy_«yîûV

J+K++ + ––
S!ŸÇþ„þV SîÄyBþyîûV S!ŸÇþ„þV S˜y¢ÅV

+ P+–
+ Q–+

S£z!O!˜ëûyîûVSöœ!…„þyV
+ + + +

84. (d) þ™!îûîyöìîû þ™%îû&¡ì îûöìëûöìŠé˜ 9 ‹˜ ~î‚ ›!£œy îûöìëûöìŠé˜ 5
‹˜Ð ¢%“þîûy‚ þ™%îû&¡ì ç ›!£œy ¢”¢Ä ¢‚…Äyîû x˜%þ™y“þ 9 : 5Ð

85. (c)
86. (b)
87. (c)
88. (a)

89. (b)
12 9

? 15


12 15
? 20

9


 

90. (c) 9x2 – 6x + 1
= (3x – 1)2

91. (d) !›!‰þ†yöì̃ îû 25 îŠéîû îëû!¢ ²Ì!“þöìëy†# ¦þy£zöì”!£öìvþy‚!îû !›¢
£z!uþëûy £zvþz~¢~éôé2021 ²Ì!“þöìëy!†“þyëû ‰þÄy!Á™ëû̃  £öìœ˜Ð

92. (a) ö˜”yîûœÄyöìuþîû xy›ÞÝþyîûvþyöì› !îöìÙ»îû ²Ìí› 3D !²ÌöìrÝþvþ !ÞÝþœ
!îÊ‹ vþz§Ã%_« „þîûy £œÐ

93. (c) ¢Á±!“þ ²Ì„þy!Ÿ“þ 'A Death in Sonagachi' î£z!Ýþîû öœ…„þ
£öìœ˜ }‹%œy ”y¢Ð

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

——————

94. (d) 15 xy†ÞÝþ þ™y!œ“þ £çëûy 75“þ› ßþºy•#˜“þy !”îöì¢îû !í›
£œ Nation First, Always First.

95. (c) ‹Á¿% ç „þyÙÂ#îû ö„þwŸy!¢“þ xMþéœ ßþiy˜#ëû „þy!îû†îû ~î‚
“¤þy!“þöì”îû ¢£yëû“þy ²Ì”yöì˜îû vþzöìjöìŸÄ Karkhandar
Scheme ~îû ¢)‰þ˜y „þîûœÐ

96. (d) ö“þöìœDy˜yîû çëûyöìîûöìDöìœîû ›%œ%= ö‹œyîû þ™yœ›öìþ™öìÝþ
„þy„þy!Ýþëûy îû*öìkþÙ»îû ›!¨îû xî!ßþi“þÐ

97. (b) !›îûy£z“þyçëûy !Šéœ öÝþy!„þç x!œ!Á™„þéôé2020 ~îû ›Äy¢„þÝþÐ

98. (c) öÝþy!„þç þ™Äyîûyx!œ!Á™öì„þ ‹Äyöì¦þ!œ˜ öíÊyöì“þ ßþº’Åþ™”„þ ²Ìy®
¦þyîû“þ#ëû e«#vþüy!î” £öìœ˜ ¢%!›“þ xy!rÝþœÐ !“þ!˜ F64
„þÄyöìÝþ†!îûöì“þ ßþº’Åþ™”„þ œy¦þ „þîûöìœ˜Ð

99. (c) îy¢îîûy‹ ö¢y›y¯y öîyÁºy£z ¢Á±!“þ „þ’ÅyÝþöì„þîû ›%…Ä›sþf#
!£¢yöìî !˜ë%_« £öìœ˜Ð

100. (d) !›!˜ £z!þ™ ¢Á±!“þ ~œxy£z!¢ ~îû ›Äyöì̃ !‹‚ !vþöìîûQîû !£¢yöìî
!˜ë%_« £öìœ˜Ð


